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al/i7 ;xfos k|zf;g tx–% sf] v'nf k|ltof]lutfTds k/LIffsf] kf7\oqmd 
 
!= kbsf] ljj/0f  
  

kbsf] gfd M jl/i7 ;xfos k|zf;g 

;]jf M k|zf;g 

;d"x M k|zf;g 

pk;d"x M – 

tx M  % -kfFr_ 

 
@= cfjZos Go"gtd z}lIfs of]Uotf 
   

 
dfGotf k|fKt lzIf0f ;+:yfaf6 k|df0f kq tx jf ;f] ;/xsf] k/LIff ptL0f{ u/]sf] . 

 

 
 

#= k/LIff of]hgf / kf7\oqmd 
 

k/LIffsf] lsl;d lnlvt, k|of]ufTds / cGtjf{tf{ x'g]5 . k"0ff{Í !)) sf] lnlvt k/LIff, k"0ff{Í !) sf] 
;Lk k/LIf0f / k"0ff{Í @) sf] cGtjf{tf{ lgDgfg';f/sf r/0fdf lnOg] 5 . 

k/LIff of]hgf (Examination Scheme) 

k|yd r/0f M–  lnlvt k/LIff (Written Examination)                                         k"0ff{Í M— !)) 

kq÷ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

sfof{no Joj:yfkg / 
;fGble{s sfg"g 

100 40 ljifout  
5f]6f] pQ/ 

nfdf] pQ/ 

!) k|Zg x % cÍ 

% k|Zg x !) cÍ 
# 306f         

låtLo r/0f M–  ;Lk k/LIf0f / cGtjf{tf{ (Skill Test & Interview)                            k"0ff{Í M— #) 

sDKo'6/ ;Lk k/LIf0f 10  *k|of]ufTds  !% ldg]6  

JolQmut cGtjf{tf{ 20  df}lvs   

 

b|i6Jo M 

!= lnlvt k/LIffsf] dfWod efiff g]kfnL jf c+u|]hL cyjf g]kfnL / c+u|]hL b'j} x'g]5 .  
@= k|yd r/0fsf] lnlvt k/LIffaf6 5gf}6 ePsf pDd]bjf/x? dfq låtLo r/0fsf] k/LIffdf ;lDdlnt x'g 

kfpg]5g\ . 
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k|zf;g ;]jf, k|zf;g ;d"x, % -kfFr_ tx, jl/i7 ;xfos k|zf;g kbsf] k|ltof]lutfTds lnlvt k/LIffsf] 

kf7\oqmd 
 

kq÷ljifo M– sfof{no Joj:yfkg / ;fGble{s sfg"g 
v08 -s_ – sfof{no Joj:yfkg -*) cÍ_ 

1. sfof{no sfo{ljlw÷Joj:yfkg   

1.1 sfof{no / sfof{no Joj:yfkgsf] cjwf/0ff / dxTj 

1.2 kqJojxf/ ÷ lrÝLkqM kl/ro, p2]Zo, u'0f / k|sf/ 

1.3 btf{ / rnfgL 

1.4 ;"rgf / kl/kqsf] kl/ro 

1.5 kmfOlnªsf] kl/ro / cfjZostf, kmfOlnª ljlwx? / cg'j|mdl0fsf  

1.6 clen]v Joj:yfkgsf] kl/ro, p2]Zo, k|sf/, cfjZostf / dxTj 

1.7 l6Kk0fL] – kl/ro / dxTj 

1.8 k|:tfj / k|ltj]bg tof/ ug]{ t/Lsf 

1.9 sfof{no Joj:yfkgdf hg;Dks{, o;sf] dxTj / hg;Dks{ sIfdf a:g] sd{rf/Ldf x'g'kg]{ 

;Lk  

1.10 sfof{nodf ;+rf/sf] dxTj, k|sf/ / dfWod 

1.11 sfof{no Joj:yfkgdf sDKo"6/ k|0ffnLsf] cfjZostf, dxTj / pkof]lutf 

1.12 sfof{no Joj:yfkgdf ;"rgf k|0ffnL (MIS) sf] cfjZostf / dxTj 

2.  n]vf k|0ffnL / cfly{s k|zf;g 

2.1 n]vf / n]vf k|0ffnL ;DaGwL hfgsf/L  

2.2 lhG;L ;|]:tf k|0ffnL, /fhZj ;|]:tf k|0ffnL / w/f}6L ;|]:tf k|0ffnL  

2.3 cfly{s k|zf;gsf] cy{, If]q, k|d'v sfo{x? / dxTj 

2.4 ah]6  / /fh:j k|zf;g -s/, e+;f/, cGtMZf'Ns_ ;DaGwL ;fdfGo hfgsf/L  

3. ;fj{hlgs k|zf;gsf] kl/ro, p2]Zo, sfo{If]q / dxTj 

4. Joj:yfkgdf lgb]{zg, lgoGq0f, ;dGjo, lg0f{o k|lqmof, pTk|]/0ff / g]t[Tj ;DjGwL hfgsf/L 

5. ;fj{hlgs ;]jf k|jfx / ;fj{hlgs ;]jf a8fkq 

6. ;fj{hlgs ;+:yfgsf] kl/ro, cfjZostf / ljBdfg ;d:of 

7. g]kfndf 6]lnlehg k|;f/0fsf] Oltxf; 

8. g]kfn 6]lnlehgsf] :yfkgfsf] p2]Zo, jt{dfg cj:yf / ;+u7gfTds :j?k 

9. ;f/fFzM a9Ldf #)) zAbx? ePsf] pw[tf+z lbOg]5 . ;f] pw[tf+z k9]/ ;f]sf] pko'Qm ;f/ cfkm\gf] 

efiff / z}nLdf n]Vg' kg]{5 . 

10. kq jf l6Kk0fL n]vgM  sfof{nosf] sfd ;DaGwdf kq jf l6Kk0fL n]Vg lbOg]5 . kq jf l6Kk0fL n]Vbf 

df}lnstf, tYo, efiff, z}nL / :ki6tfdf Wofg lbg'kg]{5 . 
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v08 -v_ – ;fGble{s sfg"g -@)cÍ_ 

 
1. g]kfnsf] jt{dfg ;+lawfg -df}lns xs, /fHosf gLlt / lgb]{zs l;4fGtx?, ;/sf/sf txx? / 

ltgsf] sfo{If]q, ;Da}wfgLs c+ux?_ 

2. g]kfn 6]lnlehgsf] sd{rf/L ;]jf zt{ ljlgodfjnL, @)^^ -+;+zf]wg ;lxt_ 

3. g]kfn 6]lnlehgsf] k|rlnt cfly{s k|zf;g ;DaGwL ljlgodfjnL 

4. /fli6«o k|;f/0f P]g, @)$( 

5. /fli6«o k|;f/0f lgodfjnL, @)%@ -;+zf]wg ;lxt_ 

6. ;~rf/ ;F:yfg P]g, @)@* 

7. /fli6«o cfd;~rf/ gLlt, @)&#  

8. ;"rgf tyf ;~rf/ k|ljlw gLlt, @)&@  

9. >dhLjL kqsf/ ;DaGwL P]g, @)%! 

10. ;"rgfsf] xs ;DaGwL P]g, @)^$  

11. ;fj{hlgs vl/b P]g, @)^# / ;fj{hlgs vl/b lgodfjnL, @)^$ 

12. e|i6frf/ lgjf/0f P]g, @)%( 

13. ;fj{hlgs ;]jf k|;f/0f P]g, @)*! / lgodfjnL, @)*@  

 

 

b|i6Jo M o; kqdf k/LIffdf oyf;Dej kf7\oqmdsf ;a} kf7\of+zx?af6 lgDgfg';f/ k|Zgx? ;f]lwg]5 . 
v08 ljifout cÍef/ 

-s_ sfof{no Joj:yfkg ^ k|Zg x % cÍ  Ö #) 
% k|Zg x !) cÍ Ö %) 

80 

-v_ ;fGble{s sfg"g  $ k|Zg x % cÍ  Ö @) 20 

hDdf cÍ 100 
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;Lk kl/If0f (Skill Test) 

* k|of]ufTds k/LIff of]hgf (Practical Examination Scheme) 

ljifo  k"0ff{Í ljifoj:t' lz{ifs cÍ ;do 

sDKo"6/ ;Lk kl/If0f 
(Computer Skill Test) !) 

Devanagari Typing @=% cÍ % ldg]6 

English Typing @=% cÍ % ldg]6 

Windows basic and Ms-Word % cÍ % ldg]6 

 
 

ljifoM– sDKo"6/ ;Lk kl/If0f  (Computer Skill Test) 
 

1. Windows basic 
 Introduction to Graphical User Interface 
 Starting and shutting down Windows 
 Basic Windows Elements - Desktop, Taskbar, My Computer, Recycle Bin, etc. 
 Concept of files and folders 
 Searching files and folders 

 
2. Word processing/ MS Word 

 Creating, saving and opening documents 
 Typing in Devanagari and English  
 Text formatting (Font, Size, Color, Underline, Italic, Bold, etc) and paragraph 

formatting (alignment, indentation, spacing) 
 Inserting header, footer, page number 
 Page setting (margin, page size, orientation), previewing and printing of documents 

 
 

sDKo"6/ ;Lk kl/If0fsf gd'gf k|Zgx? ( Sample Questions) 
 
1. tn lbOPsf] b]jgfu/L] Text  nfO{ cfwf/ dfgL 6fOk ug{'xf];\ .   [2.5 cÍ ]   -5 ldg]6_ 

-sDtLdf 150 zAbx? ePsf] b]jgfu/L] Text lbOg]5 ._ 

2. tn lbOPsf] c+u]|hL Text  nfO{ cfwf/ dfgL 6fOk ug{'xf];\ .   [2.5 cÍ]   -5 ldg]6_ 

-sDtLdf 200 zAbx? ePsf] c+u]|hL  Text lbOg]5 ._ 

3. Perform the following:     [15 = 5 cÍ ]   -5 ldg]6_ 

a) Create a new word file, copy typed text of Q.No. 2 and paste in this file and rename 
this file as NepalTelevision and save it.                                                                          

b) Underline first paragraph. 
c) Insert page number as header with center alignment.                            
d) Set page orientation as Landscape.                                                          
e) Create a hyperlink of Nepal Television at the end of the document.     
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c+u|]hL jf b]jgfu/L Typing Skill Test  sf] nflu lgb]{zgM– 
1=  b]jgfu/L Typing Skill Test sf] nflu !%) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s 

k|bfg ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 % eGbf sd z'4 zAb k|lt ldg]6 afkt ) c+s 
 % jf ;f] eGbf a9L / &=% eGbf sd z'4 zAb k|lt ldg]6 afkt )=%) c+s 
 &=% jf ;f] eGbf a9L / !) eGbf sd z'4 zAb k|lt ldg]6 afkt )=&% c+s 
 !) jf ;f] eGbf a9L / !@=% eGbf sd z'4 zAb k|lt ldg]6 afkt !=)) c+s 
 !@=% jf ;f] eGbf a9L / !% eGbf sd z'4 zAb k|lt ldg]6 afkt !=@% c+s 
 !% jf ;f] eGbf a9L / !&=% eGbf sd z'4 zAb k|lt ldg]6 afkt !=%) c+s 
 !&=% jf ;f] eGbf a9L / @) eGbf sd z'4 zAb k|lt ldg]6 afkt !=&% c+s 
 @) jf ;f] eGbf a9L / @@=% eGbf sd z'4 zAb k|lt ldg]6 afkt @=)) c+s 
 @@=% jf ;f]eGbf a9L / @% eGbf sd z'4 zAb k|lt ldg]6 afkt @=@% c+s 
 @% jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

 
2. English Typing Skill Test sf] nflu @)) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s 

k|bfg ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 ^ eGbf sd z'4 zAb k|lt ldg]6 afkt ) c+s 
 ^ jf ;f] eGbf a9L / ( eGbf sd z'4 zAb k|lt ldg]6 afkt )=%) c+s 
 ( jf ;f] eGbf a9L / !@ eGbf sd z'4 zAb k|lt ldg]6 afkt )=&% c+s 
 !@ jf ;f] eGbf a9L / !% eGbf sd z'4 zAb k|lt ldg]6 afkt !=)) c+s 
 !% jf ;f] eGbf a9L / !* eGbf sd z'4 zAb k|lt ldg]6 afkt !=@% c+s 
 !* jf ;f] eGbf a9L / @! eGbf sd z'4 zAb k|lt ldg]6 afkt !=%) c+s 
 @! jf ;f] eGbf a9L / @$ eGbf sd z'4 zAb k|lt ldg]6 afkt !=&% c+s 
 @$ jf ;f] eGbf a9L / @& eGbf sd z'4 zAb k|lt ldg]6 afkt @=)) c+s 
 @& jf ;f]eGbf a9L / #) eGbf sd z'4 zAb k|lt ldg]6 afkt @=@% c+s 
 #) jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

3. c+u|]hL jf b]jgfu/L Typing df lbOPsf] Text nfO{ cfwf/ dfgL 6fOk u/]sf] Text ;Fu le8fO{ r]s 
ul/g]5 . lbOPsf] c+u|]hL jf b]jgfu/L Text df pNn]lvt :yfg adf]lhd k/LIffyL{x?n] cfkm\gf] 
Text df Punctuation 6fOk gu/]sf] kfOPdf To;sf] zAbdf u0fgf ul/g] 5}g . tTkZrft lgDg 
Formula  k|of]u u/L z'4 zAb k|lt ldg]6(Correct words/minute) lgsflng]5 .  

 Formula: 

 z'4 zAb k|lt ldg]6 =  
 
 


